ReEEEFNEENEAN WP Fe—aIa=T — Ry T —7

EEFEE
BH2FEAHTH ~FR3HE3H31IAET
(A : 1)
== & #
I BHEHNLE
1. st
EN=EAIEST ¢ 48,000
IEES =GR ES 246,000 294,000
2. FENUR
I T SIS 15,978,986
= ST 3 A 1,311,893
HP{ER SR IS 968,400
IT R S S 23E 0 As 18,460,507 36,719,786
3. ZOMINEE
= BUFILE. 126
=2 B 2 48 1,592
MEIA 2,982,838 2,984,556
PR IR F 39,998,342
o0 B¥E&HA
1. B¥E
(1) NMFE
fah-FY 13,435,200
(P TIIERES ¢ 45,336
UNCE- Gy 13,480,536
(2) &
PARE ¢ 1,960,330
SMEE G 1,960,330
(3) £ DhiRE
il IPTiE- 123,662
WEHE 638,039
B3 ¢ 7,500
Dk 83,487
e 51,100
HARFE & 1,076,160
WHE# 124,042
EfEH 26,400
KB B 79,926
THFESh 537,884
FBLARE 1,600
PR A i 113,940
Bk E 407,307
VMR 961,218
IR BERE 382,179
A FEE 13,623




FrEIREFNEENEN WP Fe—aIa=T — Ry T —7

EEFEE
BH2FEAHTH ~FR3HE3H31IAET
(LA« 1)
== & #
iR 46,900
WA 15,697,000
HEE 1,100
O ORRE G 20,373,067
BERGH 35,813,933
2. BEHE
(1) N2
Fakh Y 4,004,000
N2 4,004,000
(2) Dk E
EEERIE 1,826,961
fEFEA 397,030
kB A 3,210
WEHE 187,290
BN ¢ 2,241
BN 41,400
A (B 50 % 564,555
HARFE & 240,000
FABLAGE 1,072,700
SCHLFHCEL 9,350
FESy ¢ 26,375
e 145,640
Z DR 4,516,752
EEEE 8,520,752
PR AR 44,334,685
LR R A 4,336,343
I &M
1. BEERREIER 0
PN E T 0
vV BEANEH
1. BEERREIER 0
RSB R
BB | R4 2 1E Bk A BE SRR A 4,336,343
EARL, R R UEER 0
X4 1 IEBR B PE HEDRAR A 4,336,343
AT E R 1E B A BE 10,325,167
R R IE B A BE 5,988,824




ISUERONIGES

33 A 31 HBE
FEIFEFNEENE AV B Fe—aI2=T (— Ry T —7
N7
GERECES & H
I BEDH
1R & E
B & 27,432
o TEE 15,124,661
Wi i 6,490
Je i 384,483
SRR 209,824
AL E 477,253
RN 106,332
BN E A F 16,336,475
2EEEE
T H 2 H A o 1,502,304
BRI R i 336,653
—FEE A& pE 64,555
VI =T 99,144
HH & 50,000
EEEESH 2,052,656
BELH 18,389,131
D AEDE
1B A&
A4 1,418,359
FRITHE L 302,300
RS2 4 177,430
TEV & 502,218
mEAESFH 2,400,307
2EEAE
FHIfEA® 10,000,000
EEAEEE 10,000,000
RESEFT 12,400,307
I IE SR M PE D ER
P71 R A P 10,325,167
U HI T R P P R A 4,336,343
IEBRBAPE S BT 5,988,824
BEROERMESS 18,389,131




